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6.1 Perpendicular and Angle Bisectors

Bellwork

m d P‘\' 1, Find the midpoint of the segment
{2, 8) and (-4, 6)

2, Find the slope of the segment Q
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-L Prove and apply theorems about

perpendicular biseclors.

tant: When a point is the same distance
from two or more objects

Theorem 6.1 Perpendicular Bisector Theorem
Ina plane, if & point fics o the perpendicular

bisecior of o segamen, (hen it is equidislant <

(roan the endpaints of the segment

IFCPisthe L bisector of 3B, then CA = CB. A n "
P p W2

Theorem 6.2 Converse of the Perpendicular Bisector Theoram
Ina plune, if a point is equidistunt from the
endpoints of a segment, then it lies on the
perpendiculas bisevtar of the scgment

1f DA = DB, then polns D lies on 2 .
the 1 bisecior of A8

Prnf Ex. 32, p.308 4
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Find each measure.
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Find each measure.
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Find each measure.
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Use the diagram and the given information to find the
indicated measure.

1. ZX is the perpendicular bisector of wy,and YZ = 13.75.
2

Find WZ. WZ 13,75 )
’ A
2. ZX is the perpendicular bisector of WY,
WZ=4n-13,and YZ=n+17. Find YZ
Un-13=n+1F YZ=10+17 H
%n =30 w x| v
n= |0 Y
3. Find WX when WZ = 20.5, WY = 14.8, + - 1
and YZ = 20.5. 14
WX = li‘-& < 7,"/7
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Imls(ance and fingle Blsectors

THEOREM

HYPOTHESIS

CONCLUSION

Angle Blsector Theorem
If a point ks on the bisector
of an angle, then It is
equidistant from the sides
of the angle.

AC = BC

Converse of the Angle
Blsector Theorem

M a point in the interior

of an angle Is equidistant
from the sides of the angle,
then It Is on the bisector

of the angle.

LAPC = £LBPC

Find the measure.
BC

Ln.%c = 3,1

Find the measure.
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m<EFH, given that mZEFG = 50°, :
G
H

Find mzZMKL.

B 4 o:Zr+20
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Given that YW bisects ZXYZ and

Wz = 3.05, find WX.

Mfé.bg I

Given that m/WYZ = 63°, XW = 5.7,
and ZW = 5.7, find m/ZXYZ.

mLXyz = 2(03) =@

20 =41°
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Homework:
pg. 307 # 4-20, 24,29,30



